2.1

a,b,ps

[1.2]

2-1
( ) ) &
ra) A
I P

aA bB——=> pP sS

Npg — Ny :nBo—nB znP_nPO :ns_nso (2-2)
a b p S
(=r) _(r) e fs (2-3)
a b p s
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e rg— P S
o kmol/(m®.h)
I kmol /(m® cath)
1)
) ly kmol /(kg.cat.h)
(2
I, kmol/(m®. -~ .h)
®)
Ps
Po |
(2-4
W =psVs =p,V,
W —
Vo V,— W
_Po (2-5)
v =Pp - Tw _Ps s
(1) r kmol /(m®.h)
) r, kmol/ (m®. ~ .h)
& VL
' (2-6)
V. =V(@l-¢)
(2-7)
r, =r (l-¢)
(2-1)

19









(2-15)

fc(C))

2-1

95

aA bB —>pP S

t

N, =N b(n n,)=n bn X
B BO a A0 A BO a A0 A

p p
Np =Npg +g(nAO _nA): Npo +EnAOXA

S S
Ng =Ng, +g(nA0 _nA): Nso +gnAOXA

r=f(C, T)

= fT(T)fC(Cj)

(2-15)

i-C4HgBr CszONﬁ% NaBr
(A) (B) (P)

C, =50.5mol/m*® C,, =76.2mol/m®

iI-C4HyOC,Hs
©®)

C, 37.6mol/m?

(2-11)

(2-12)

(2-13)

(2-14)

(2-14)

(2-15)
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a b p

2-2

2-3

1 CPO :Cso =0
Cgo—Cy =76.2-37.6= 38.6(mo|/m3)

C, =C, —(Cyy~C,) =50.5-38.6 =11.9(mol / m°)
C, =(C,s = C,) = 38.6(mol / m°)
Cs =(Cy, —Cy) =38.6(mol /m®)

2-1 (-r,) = KC,C,

A
C, =Cu—(Chy—C,)=76.2—(505-C,)=C, +25.7
(-1, )=kC,C, =kC,(C, +25.7)
B
C,=C, —(Cs—C,)=505-(76.2-C,)=C, —25.7
(-r,)=kC,C, =kC,(C, —25.7)

Cp=Cpo +Cpo
P P Ca0Xa

(CroXa —Cao0)

23



2.2.3

B

1
ECAO (Xa — @)
B
1
Cp =Cgo —2C X, _ECAO (Xa — @)
1
Cs =Cso +ECAO (Xx— @)
(2-15) k
r=kf.(C;) (2-16)
k (Arrhenius)
k=ke ™ (2-17)
K
kK,—
E___
R— (R=8.314J /(mol.K ) =1.987cal /(mol.K))
E (2-17)
Ink = Ink, ——= (2-19)
° RT
dInk E
= 2-19
dT RT? (219
(2-18) Ink YT
—E/R E
Ko T" Ko
aE/(RT) ko
E AR B
(E>E.AHEW (E<E}A HR®
kO



2-1

2-1
Al AH AH E
k T
dk
Kk E
dLT 3 (2-20)
?
ar
I; E
a_T — ﬁ (2-21)
?
E/RT
25 40KJ / mol
1 5% 125KJ / mol 15%
2-1
2-1 D
T E 41.8KJ /mol | 167.2KJ/ mol | 292.9KJ / mol
0 11 3 2
400 70 17 9
1000 273 62 37
2000 1073 197 107
40 200KJ / mol 40KJ / mol
E

@) E

)



@)

2-2
k 5%
2-2 k 5%
E T 25 100 200 300 400 500
41.8KJ / mol 0.9 14 2.2 3.3 45 5.9
167.2KJ / mol 0.2 0.4 0.6 0.8 1.1 15
k kmol /(m®.h)
n k
_ 3
- (-r,) _ kmol /(m 3.h) (2-22)
C"  (kmol/m?)"
k = (h"Y)(kmol /m®)~" k ht st
k (m®/kmol.h) | /(mol.s)
n
(=r,) =k, P, (2-23)
G kmol/ m®.h) mol /(l.s) P, MPa K,
kmol /[m*.h(MPa)"] p, =C,RT
Kk =K (2-24)
* (RT)"
2.2.4
(-ry)=kCiCjg - (2-25)
ach ..
(-ry) = KCaCo (2-26)
[L+k,C, +kgCy+--]"
(-ry)=a,+a,C, +a,Ci+- (2-27)

aA bB——> pP sS

26



(-ra) =kCiCq

C, Co— A

a P—

A——>B

k *
A AfkléA A
-1

A*%kz B
(2-30) B

g = kzc/:

A A
K — C:CZ:A

CA
C,=KC,
(2-31)

r, =k,KC, =k'C,

A*

A A
ry =k,C2

A
A A
A C,

(a+p)

(2-29)

(2-28)

(2-29)

(2-30)

(2-31)

(2-32)

(2-33)

(2-34)

(2-35)
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(_rA)
- 2-36
oC, ( )
CA
A o A
(1)
2)
2-3
2-3
C X (rl/rlo) (rz/rzo)
1 0 1 1
0.7 0.3 0.7 0.49
0.5 0.5 0.5 0.25
0.1 0.9 0.1 0.01
0.01 0.99 0.01 0.0001
* r10 r20
2-3 x =0.99 10°
(=ra) = kCACZCRCY (2-37)
C, Cq
(2-37)
cect
—r,)=k.—4"8 2-38
(1) 1+k'CiC! (e:38)

28



2.25

(48]

A B—s>cC
c—es A B
(_rA)l = klcficg
Mho = szg

(_rA ) = (_rA )1 =My = klcf(CS - kzcg

r. =kCuCg
rs =k,Cp?Cp?

(—rA) = klczlcgl \f szZZCSZ

ki < - k
A—>p—=>3

s
Atasp
NG
(_rA)
(-ra) =k,Cx

r, =k,C% —k,C}

(2-39

(2-40)

(2-41)
(2-42)
(2-43)

(2-44)

(2-45)

(2-46)

(2-47)

(2-48)

(2-49)

(2-50)
(2-51)

(2-52)

(2-53)

(2-54)
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2.3

231

d3mm

A B—s>p
ko

(_rA) 3 kchCB + kZCACP

r, =k,C,C, —k,C,C,

(_rB) 5 k1CACB
r, =k,C,C,

ks

(_rA) = (k1 + k6)CA - kZCB - kscc
(_rB) = (kz + k3)CB - k1CA - k4Cc

(_rc) = (k4 + ks)Cc TN k3CB - k6CA

500 1500m’

[6.7]

104

(2-55)

(2-56)

(2-57)
(2-58)
(2-59)

(2-60)
(2-61)
(2-62)
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2.3.2

A B——>C
[AB] C

A B 2K——> [AK] [BK—/> [CK] [K——>C 2K

[AK] [BK] [CK]

AF?°
K
K
k
K=-—+ (2-63)
kZ
K
k, K
Pt Pd Ni 200 240
Al,O3 :
ZnO 31

Al,03-Zn0O
s




CHs HO

CoHsOH — S, CH,CHO H,
1/2CH,=CH-CH=CH, H,0 1/2H,

2.3.3

2-4

40KJ /mol , 80KJ /mol

2-4

<10KJ /mol > 80KJ /mol

8 25KJ/mol > 80KJ /mol
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(Langmuir)

r,=k,P,(1-6,)

(1_6A)
Iy :kdeA
r=r,—r, =k,P,(1-6,)-k,0,

r=0 r, ="y
KaPa(1—0,) =k40,

_ ka I:)A
A1+ K P,

k
K,=—">

Ky

(2-67)
Ka
Ka

H, 20?2(H0)

ra = kal:)A(:l'—eA)2

fy = kdei

(2-64)

(2-65)

(2-66)

(2-67)

(2-68)

(2-69)

(2-70)

(2-71)
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r= r-a _rd = kaF)A(:I'_eA)2 _kdezA
r=0

0 — \/KAPA
1+ JK,P,

A B
Ka
A B 2c0=———Ac Bo
d
A B
(1_9A_95) A (ra)A

(ra)A =kaAPA(l_eA_eB)
(I‘d )a =deeA
A Iy
fy =KaaPa(1=6,-05) kg0,
B (r)e (f)e
M )s =K Pe(1-6,-65)
(rg)s =Kge0p
B Ig
g =KgPs(1-6,—65)— K65
r,=0 ry;=0 (2-76) (2-79)
0, =K,P,1-6,-65)
0 =KgPs(1-6,-65)

KAF)A
0, =
1+ KPP, +K;Py
1 KBI:)B
1+ K,P, + K Py

B

K,P.
e. [

Il+iKﬂ
i=1

(Freundlish)

(T

(2-72)

(2-73)

(2-74)
(2-75)

(2-76)

(2-77)
(2-78)

(2-79)

(2-80)
(2-81)

(2-82)

(2-83)

(2-84)
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E,=E)+0a0,
E, =EJ+B0,
E. Eq
(2-85) (2-86)
E) a0,
r=r,-r P
d a0 RT T ) A
0
kdoexp(—— B)r(0,)
(2-87) 0, f(0,) r,
F(0,) £'(64)
f'(6,)

r=r,—r, =k P, exp(-g0,) -k, exp(h6,)

0

K, =k, (0

a

k, =k, - f'(0,)-ex (—E—g)
d = Kgo A p RT

r=0
k.Pa exp(-g6,) =k, exp(h6,)

(g+h)o, :Ink—aP*

(2-91)

1 f —InK,

0, = KP,'®

a

9=_=

RT
_B

RT

InP,

'f(eA)

(2-85)
(2-86)

(2-87)

RT

exp(B A)

(2-88)

(2-89)

(2-90)

(2-91)

(2-92)
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234

1.
(Hougen) (Watson)
2-4
H; CgHig=—== CgHas
(A) (B) (R)
A oc=———Ac
B c=————Bo
Ac Bo=———Ro c
RG# ()
A) (B) A B
Ro (D)
R c
Fa = kaAPAev \ deeA
g = kaB PBeV - kdBeB
r=ks6,06;, —k 0.6,
. = deeR - kaR PReV
6, =1-0,-0; -6,
= rB = rR =

e _ KAPA
P14 K, P, +K P, + K P,

(A)
(B)
(©)
(D)
Ac Bo ©

(E)
(F)
(G)
(H)
0

V)
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e _ KBPB
® 1+K,P, +K P, +K.P,

(K)

K.P
0 = R_R (L)
1+ K,P, + KgPs + K Py
1
%=1 kP (M)
+ KPPy + KgP; + K Py
r (G)
(r,) = k(PP — P, /K) : (2-3)
1+ K,P, + KgP; + K Py)
P, P, P.— A B R
K, Ky K— A B R
A\
K
(P == )
P, K
(r)=—%7p (2-94)
(1+ﬁ:+KBPB+KRPR)
: (2-95)
k
2-5
n n=2
KiP
R I<AF)RF)B KRSPRPS
S KP, P,
(KRSPRPS)lIZ A
F)B
2-5
A oc=——=Ac

37




R | *Ac Ro r— k(PA_PR/K)
Ro R o 1+KAPA+KRPR

A=———R

A 2c=————=2A,0
2

-~ *ZALG:RG e} _ k(PA—PR/K)
2

r=
Ro =——=R o (1+\/KAPA+KRPR)2

*A o=———Ac

B c=———Bo

. k(P, — P;P, /KP,)

B=R S|Rc Bo=———Ro So 1+@+KBPB+KRPR+KSPS
Ro=————R o B

So=———S o©

Ea Ed
Prli's P
r,, =kP 2 —k : 2-96
NH, 1° N, PNH 2 P:izs ( )
2-5 N2 3H2 :ZNHg
N, 26=———=2No (A)
2N 3H;=——=2NH; 20 (B)
(B) N,
(2-88)
N, = Ky F)N2 exp(—go N, ) —Kq eXp(heNz) ©
1 .
Oy, = g+hIn Ko Py, (D)
p2
K2 =0 E
2 P|_3|2 P;Z ( )
B Py Oy,
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2.4

. PRH
Py = s F
N, Py K2 (F)
(D)
1 Pl\%H
0y = I . : G
T (©)
G) (©
oPNzH3 —a KOPI\?H3
'n, =KaPu, '(W) —kq ( PHSZ 2 )P (H)
a=—9 o a+p=1 0
g+h g+h
Koo . K :
ka(K_zg) :kl kd(K_Zz)ﬁ:kz )
3 P2
Ce H, \o  TNH; B
rNZ _k PNZ(PNZH3) _k2( P:Z ) (K)
a=pB=05
Pl.5
re =k Py —2—k, -2
. . PNH3 ’ F)Hl;5
15
r., =2r, = Re g M
NH, N, 1° N, PNH3 2 P:|25
[2,8,9]

C(S) H.0 (9) ——=>CO(9) H2 (9)

2C(S)  3/20,(9) —=>CO(9) €O, (9)
4FeS; (S) 110, (g) ——=>8S0; (9) 2Fe203 (S)
CaCO; (S)——>Ca0 (S) CO; (9)

(2-97)

(2-98)
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bB( )——=>

)

aA (

bB( )—>

)

aA (

sS( )

bB( )—=>pP( )

)

aA (

2-2

2-3

{5 17 2

A ]

A0S

FM G M @

2-3

2-2
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)
@
@)
(4)
(®)

2-5

(2-99)

aA( ) bB( ) ——=fF()

A
A B
F
F
Xp
2-5 2-4
t;
Xg
(Cy); =f()
Xg = o(t)
J
R
X =1-(=%)°
B R,
(2-100)

R = f[Tb’(Cb)j]

sS( )

(4)

R. /Rq

2-5

(Co);

()

@ @

2-4 2-5

(2-99)
(2-100)

(2-101)
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2-5

R
Xg =1- (R_C)3
s

Xg =—
B
tf

t = PeRs
" 3bk,CoM,

b vy |t
tf —l 3(1 XB) _:1_(1_XB)1/3
f
+2(1—XB) ~ pBRS
2 t,=—25
PsRs bkC,M,

tp=——2 5
" 6bDeC,M,

b 1ox,)?
t
2
= PeYiRs L=1—(1—XB)1/3
2bDeC, M, t,
t 1/2 PsRs
—=1-(1-x t, =—2 5
t =%) "7 bkC,M,
u 3/2
Rs
t. =
=0 X CA)
FQS - Xg — tf
1.0 [ 1.0 s —
7 [ ANAE T Frah
i gt AN\~ $RAES

N

|- SR i

0.8—> ~ \\;}c_/’; LR
: \ \/\I

-~ ",

\\\ \\ N >\
.6 N k

& mk»bw\y’ \

N ; "

. g .

NN

0.4
e
B
42 g
X!
LY
kY
0 0.2 0.4 0.6 0.8 1.0
t/ g
25 t/t, R.IR,
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r= f(©) - (T)

O]

= fC(Ci)' fT ()
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2-1 A 2B—>2P A
(-ry)=2C2°Cq B P
2-2 (-ra) =k.Ch =k, pj (-r,) mol/m?.h
n o1 2 k. k,
2-3
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20 8

(1) CzH4
(2) CoHe

2-5 10

(K) 300 400

120 10
200 E =156.9KJ / mol
200 E =104.6KJ /mol

600 800 1000
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